MATH 111: HOMEWORK 2 DUE THURSDAY, SEPTEMBER 14TH

63\0\6\0(\5

Name:

This assignment is worth 100 points. You will be awarded 40 points for attempting the entire assign-
ment (that is answer all problems). T will then select 20 problems at random to grade, each worth 3
points each. The space lelt between each question is indicative of how much work you should show.
If there are any problems you find particularly difficult, circle them in red. If there are any particular
questions you would like {eedback on, circle them in green. These are examples of questions that
might appear on an exam/quiz. If yon use a calculator to help, make sure you can also do them
without it.

1. Perform the operation and combine like terms for the following polynomials.

(a) (100 + 2% — 1) + (821 ~ & + 161%)

o>+ Gt + (6K - |

Answer
(b) (7t =13t +d) + (—61% + 13t — 4)
i
Answer: E;
(c) (z*+2:7 = 15:47) - (-12:2 + 9z - 3)
2
Aﬂs“’(}r' Z’B +\ q’ 2 _24 % + I o
(d) (150+* + 8r — 14) — (100s* — 1922 — Tx)
> 2
A - (oo;ac,l"+\503c 1A +1 50 -1
nswer:
(¢) Wb~ (w'+uwd+uw+w+1)
L2 -0 -00- |
Answer:
(N 6y* (3-y* +2y4")
5 o z
Answer: l 13 — 63 + gﬂ

(g) a¥ (a2 + Tr —4)
|

' x‘ + T -l

Answer:
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(h) (7o — B} (4 — 1) O
= T b — Toe 1O - 5.l +5° 105
= 2§ - 70X =20+ O0F 70t + T8 - 20

Answer:

(i) (4+93) (62 - 31)

S ot? - 36 FAESES-AEDE |
- LEP -2t +AES-2TE qQes-13E - 12¢E

Answer:

() (1+8y) (* =y +7)

S -3y - 4y 569 +7

Answer:
(k) 7(xr—=9)(2r+3)
ra
Answer: | LI':C -5 ~| Y
() =2 {(1-23)(1+:%)
_ & T
-2+ T
Answer:
() (2~ -+ 422) 65 +7)
3 Z
Answer: 24'3(’ +2'2‘x + 59C' Sl | L”'

() (10w® — dw + 9) (w” + 5w? + 2)

Ow’ + bréudt-1) B 2+650%-Fu 1S

Answer

Conl.
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(0) 10 (z + 322)°

Aot 603+ 10

Answer

() (1-5y)(d+y)°
~ 54 3%y - 724 |

Answer: (d 3 3 + 6

(@) (@*~72+10)~ (3-1)(3+a)
2
2o = 7o€C + |
Answer:

(r) («+ 9;143)2 - (4s* - ]}2

= ot 4182+ Bl - 6" +8x" - |

o+ 2" +ax" - |

Answer:

2. Think about the following statements and carefully explain your answer.

(a) If we multiply a polynomial with degree n and a polynomial of degree n, what is the degree of the resulting
polynomial?

2 3 <
[\ L)1) = VX X+

P ?
ng\-Z 0\663 0\63‘5:2—%

Cont.,
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() If we add a polynomial of degree m to a polynomial of degree n <, wlmL is Lthe (lcbrce ol the resulting polynomial?

(\-rJC)*(‘*,‘QC')) = 14“7("'-3:

gz 928> o5 4]

(¢) 1f we add 2 polynomials of the snme degree, say n, can the resulting polynominl have a degree different to n? Give
an example if this is possible.

(\fi'JC)"_(\F x") = A
o\%-z deﬂz A | Yes |

3. Factor out the greatest covunon factor from each polynomial,

(a) a® = 6r® + 10210

(i e ® 10X )

Answer:
(b) 25u° — 15u% + 30u8
. 5.°(5u -3 +603)
nswer:
(¢) 2482 — y'210 + 3722
T 2_¢
2 (2u4-u"2"+2 2)
Answer: 6 5 ,j
(d) Ta'" 4 14aB’ — 3540014
4 7 q, - ‘?.— S)
Answer: 70‘ b ( Ot ZO- ‘O 5 b
() 3(9+T72) = (2= 2)(9 + T}
(a+To) (o +1)
Answer:

Cont.
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(f) z2(4z = 2N+ 7(% - 42)

= 2 (4-2Y) - 72k -27)

= 2(2"-7 & -25) e 2( Z2=7)( 2,2)(2_,.2)
(g) 8y(2y+7)" — 2% (2y + 7)°
& 5
Answer: 2’5 (23 +-7) (4 B 52(23 +7) )
(b} w1 +w?} 8w — 1'% + 9w (1 + w?)* (8w ~ 1)7
3
o () (1+02) (8- et (11)°)
4. Factor each of the following by grouping.
(a) 182 -2 +9—2° .
_goc(a-at) + 1 lax )
= (20C+ D(s~xt) o (20 N(3-0<X 3 +x)

(b} Gt + 30 — Muw® — Tw

- 30> (20+1) -7&(7\0*\)
- ( 3(")3‘ 7LJ)(.ZLJ +1 ) Answer:
(¢) o' +4* +9y* + 0y

-y (Y +1)+613"(3+1)

= ﬁjS*q‘j")((ﬁ-f-() Answer__t‘/jz(f) +4 )(3"")
(d) 21z - 562 — 1223 + 3245

3
T (323 - 4ol (3-8) )
= (7oe- 4o 3-Ex3) e X(7-H )(3-5x?)

(30 =7 2w+ )

{e) 66F 431 — 2% — O

a3 (2 k) - E3(R+E) N
:—?;(;&-65)(24'(:) Answer: 63(5—6 )(2’+b)

Cont.
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5. Factor ench of the [ollowing,

(a) 22 — MW +9

(o~ 1) (oe-a)

Answer:
(h) 2+ 118+ 24
(e3Xets)
nswer
¢} 22 =9z~ 10
(Z-10X2+!I )
Answer:

(d) #* ~3r - 28

(¢ -7XDC+4-)

Answer:

(e) r®+ 100, — 24

(+12)(oc-2)

Answer:

() w* — 8w+ 16

(W - 6)

Answer:

Cont.
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(g) z2+62+9

z

Answer: ( 'E‘*'B)
(h) ? — 144

N .2 12 )=+ (2.)
(i) 36 - x2

e, (B - (6 +x)
() 422 - 23z -6

pamee_ (22 -6)
(k) 2y° — 9y +10

Answer: ( 9‘6 ".5)(@ "Z_)
(1) 1252+ 31 +7

Answer: ( 41"")(3 o+ 7)

Cont,
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(m) 6z — 35+ 36

. (ZZ-Q)(3Z"4—§

Answer
(n) 812+ 29t — 12
(8t —3INE+G)
Answer:
{0} 21 = w — 2ur*
_ (2wt (w-3)
Answer:
(p) 36v% — 49
(6v ~ ) 6v+7)
Answer:
(@) 1002 + 200+ 1
2
Answer: (l Ox +! )
(r) 2522 — 402+ 16
ra
(52-4)
Answer:

Cont.
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(s) 9y — 121

 (3y - (BYm1)

Answer
6. Factor each of the lollowing
(a) 4x® — 2007 — 144
le o (- x+4)
Answer:
(b) #! + 1583 + 1442
) e+ ) E+14)
nswer:
(c) 6u® — 3u® — 3u?
2l (o -0 Z2u+1)
Answer:
(d) 8 + 504 - 24
4 4
Answer: (& 3>( e +3)

Cond.
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(e) 21 - 522 - 12

(z-2)(2+2)(22%+ 2)

Answer:

() da®+x% -5

(o - X+ NG+ 5)

Answer:

The End.



